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PRESIDENT ROBAK: Senator Elmer.

SENATOR  ROBINSON: We could sing, too, you know, that...we"d
really put them under.

SENATOR ELMER: Senator Robinson, we have a good colloquy going
here, or dialogue. What my..._.mine would do would be mitigate
what Senator Wickersham would say, that you can"t freehold until
the second override election. Mine would say if they do that,
then we should remove the 60 student limit and allow anyone in a
Class 1l or Class 11l district to freehold out after that...

SENATOR ROBINSON: Yeah.
SENATOR ELMER: ...that vote to override.

SENATOR ROBINSON: Yeah, that was my understanding. So, but 1
guess that 1 will see if Senator Bromm gets courageous and puts
that amendment up. Thank you.

PRESIDENT ROBAK: Thank you, Senator Robinson. Senator Bohlke.

SENATOR  BOHLKE: Madam President and members, this has been an
interesting discussion and this is not an easy topic. 1 think
there are a few things we have to keep in mind. One, it is not
only 60 students, but it is with if you have 60 students and
you"re within 15 miles of another school and that, also,
certainly, I have an amendment filed that says one way that
would give schools a better idea of what they may have to be
dealing with, if you would have to file a letter of intent, that
if the override was successful, you would be pulling your land
out. That would help schools, at least, be able to budget or
know what the burden may be on those people in the towns as to
what they may be facing in property tax. But 1 think what
everyone has said, what Senator Wickersham, Senator Bromm,

Senator Elmer and Senator Robinson is all true. It is not an
easy issue. 1 do believe that people who have looked at 806
and recommended, a number of groups, not doing anything this

session.The problem with dealing with this at thistime is

that 1 thinkin order to resolve it we would have to take a
significant amount of time right now, probably the rest of the
day, because it is complicated, and then 1 think all of us have
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